Algebra 1 Mid-Chapter 3 Review
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For all equations - Solve. Clearly show ALL steps. Check.
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21) Tallest Mountains Mount Kilimanjaro, the
tallest mountain in Africa, is 1088 meters taller
than Mont Blanc, the tallest mountain in
Europe. Mount McKinley is the highest point in
North America at 6194 meters. Mount
McKinley is 1387 meters taller than Mont
Blanc. How tall are Mount Kilimanjaro and
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Explain how vou got your answers.
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22) Car Wash You are working at a car wash to
raise money for a charity. By the end of the
day, you raised $342. You charged $6 for each
car wash. How many cars were washed
during the day?
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Answer in a sentence:
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Algebra 1 Mid-Chapter 3 Review

LLEESSON 3.2 Practice B
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LESSON 3.3 Practice A
Check whether the given number is a solution of the equation.
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Algebra 1 Mid-Chapter 3 Review

LESSON 3.3 Practice A (continucd)

Find the length of each side of the triangle or rectangle. Write an equation!!!! Show your work!
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LESSON 3.4 Practice B
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Find the perimeter of the square. Write an equation!!!! Show your work! Units are in feet.
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Algebra 1 Mid-Chapter 3 Review

LESSON 3.4 Practice B (continued)

19) Saving and Spending Currently, you have $80 and your sister has $145 You dec:1de to save $6 of
your allowance each week, while your sister decides to spend isr=eheleaiiowaneeel

E 1 $7 each
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Define a variable:
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LESSON 3.4 Practice C
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